
2D Inverse Functions 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1. Find the inverse of the function: 

𝑓(𝑥) =
3

𝑥 − 1
,  {𝑥 ∈ ℝ,  𝑥 ≠ 1} 

 

 

 

 

 

 

 

 

 

 

 



2. The function: 

 𝑓(𝑥) = √𝑥 − 2,   𝑥 ∈ ℝ,   𝑥 ≥ 2 

a) State the range of 𝑓(𝑥) 

 

 

 

 

 

 

b) Find the function 𝑓−1(𝑥) and state its domain and range 

 

 

 

 

 

c) Sketch 𝑦 = 𝑓(𝑥) and 𝑦 = 𝑓−1(𝑥) and the line 𝑦 = 𝑥 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. The function 𝑓(𝑥) is defined by: 

𝑓(𝑥) = 𝑥2 − 3,  𝑥 ∈ ℝ,  𝑥 ≥ 0. 

a) Find 𝑓−1(𝑥) 

 

 

 

 

 

 

 

b) Sketch 𝑦 = 𝑓−1(𝑥) and state its domain 

 

 

 

 

 

 

 

 

 

c) Solve the equation 𝑓(𝑥) = 𝑓−1(𝑥) 

 


